
SAP ABAP table ICL_POLOAU {Extended ICLPOLOAU (Insured Vehicle)}

ICL_POLOAU

CLIENT [CLNT (3)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

INSUREDOBJ [NUMC (4)]

CHANGEDBY [CHAR (12)]

PROPMAKE [CHAR (4)]

PROPMODEL [CHAR (4)]

MODELTY [CHAR (4)]

PLATECOUNTRY [CHAR (3)]

PLATEREGION [CHAR (3)]

CAPUNIT [UNIT (3)]

ICLCLAIM

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

 ICL_POLOAU-CLAIM = ICLCLAIM-CLAIM 
0..N

0..N

ICLPOL

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

 ICL_POLOAU-POLVNR = ICLPOL-POLVNR 
0..N

0..N

ICLPOLO

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

INSUREDOBJ [NUMC (4)]

 ICL_POLOAU-INSUREDOBJ = ICLPOLO-INSUREDOBJ 
0..N

0..N

ICLPROPMA

CLIENT [CLNT (3)]

PROPCAT [CHAR (2)]

PROPMAKE [CHAR (4)]

 ICL_POLOAU-PROPMAKE = ICLPROPMA-PROPMAKE 0..N

0..N

ICLPROPMO

CLIENT [CLNT (3)]

PROPCAT [CHAR (2)]

PROPMAKE [CHAR (4)]

PROPMODEL [CHAR (4)]

 ICL_POLOAU-PROPMODEL = ICLPROPMO-PROPMODEL 0..N

0..N

ICLPROPTY

CLIENT [CLNT (3)]

PROPCAT [CHAR (2)]

PROPMAKE [CHAR (4)]

PROPMODEL [CHAR (4)]

MODELTY [CHAR (4)]

 ICL_POLOAU-MODELTY = ICLPROPTY-MODELTY 
0..N{0,1}

T000

MANDT [CLNT (3)]

 ICL_POLOAU-CLIENT = T000-MANDT 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ICL_POLOAU-PLATECOUNTRY = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 ICL_POLOAU-PLATEREGION = T005S-BLAND 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ICL_POLOAU-CAPUNIT = T006-MSEHI 

0..N

0..N

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICL_POLOAU-CHANGEDBY = USR02-BNAME 

0..N

0..N


